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1)  Write in a clear legible handwriting.
2) This question paper has four Sections A, B, C & D and Question Numbers
from 1 to 55.
3)  All Sections are compulsory. General options are given.
4) The numbers to the right represent the marks of the question.
5) Draw neat diagrams wherever necessary.
6) Newsections should be written in a new page. Write the answers in numerical
order.
7)  Calculator is not allowed.
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Do as directed (Question numbers from 1 to 24) (Each question carries 1 mark)

[24]

Choose the correct option in questions from 1 to 12 to make each statement true.

The decimal expansion of is non-terminating and recurring. 1]
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2)  Mean of first ten natural numbers = [1]
(A) 5.5 (B) 6.5
(€) 5.05 D) 5
3) The graph of y=P(x) is given below. The number of zeroes of P(x)is . [1]
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4) The lines representing the pair of equations ; are parallel. [1]
(A) x+2y-4=0,2x+4y-12=0
B) 2x+3y—-9=0,4x+6y—18=0
(C) x-2y=0,3x+4y-20=0
(D) 9x+3y+12=0,18x+6y+24=0
5)  The discriminant (52— 4ac) of the quadratic equation 3x2—-6x+2=0is___ .[1]
A -12 B) 12
(C) —60 (D) 60
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